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STARS ENTRY TEST SYSTEM-2020
ONLINE SESSION: MDCAT

Test Code: (C11) Unit # 3+9 (Alkyl Halides and Environmental Chemistry) Time Allowed: 40mins
. = "IE? e e .
1. The formula <7 ~ &H ~CHiig
A) Primary alkyl halide C) Tertiary alky halide
B) Secondary alkyl halide D) Tertiary alkyl halide
2. Elimination bimolecular reactions usually obey
A) First order kinetics C) Third order kinetics
B) Second order kinetics D) Zero order kinetics
3. For which mechanisms, the first step involved is the same
A) E1 and E2 C)E2 and E1
B) E2 and Si2 D) E1 and Sy1
4, The rate of E1 reaction depends upon

A) The concentration of substrate

B) the concentration of nucleophile

C) The concentration of substrate as well as nucleophile

D) It is zero order reaction and do not depends on concentration

5. Ethyl bromide is formed by the reaction of HBr with

A) Ethane C) Ethyne
B) Ethene D) Propane
6. The elimination of hydrogen halide from adjacent carbon atoms is called
A) Dehydrogenation C) Dehydrohalogenation
B) Hydrogenation D) Hydrohalogenation
7. The best method of preparation of alkyl halide is a reaction of alcohol with
A) Zn/HCI C)PCl3
B) SOCI,/pyridine D) PCls
8. Which type of reactions are characteristic of Alkyl halides?
A) nucleophilic substitution C) Elimination
B) nucleophilic addition D) both A and C
9. Which one of the following alkyle halides show $x2 - reactions?
A) primary alkyl halide C) tertiary alkyl halide
B) secondary alkyl halide D) both A) and B)
10.  Which one of the following is the least stable carbanion.
A) CHs - C) (CHa1); CH-
B) CHz = CHz D) (CHa)s C-

11.  Each of the following compounds is effective as refrigerant. The release of which one of these
causes the greatest depletion of the zone layer

A) CCI,F, C) CH,CHF,
B) CH,OCH, D) CH,CH,CH,
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The reaction of C/H, Mg/ with acetone followed by hydrolysis gives

A) sec-propanal C) n-propanal

B) tert-propanal D) t- butanal

Chloroethane can be formed from bromoethane in two steps ¢, 7. 5r 5 H.0H = ,c e

Which statement about these steps is correct?
A) Step 1 uses alcoholic KOH C) Step 2 uses hot aqueous NaCl
B) Step 1 involves a nuceophilic substitution D) Step 2 is electrophilic substitution

Which halide is hydrolysed faster?

A) CH,CH,F C) CH,CH,Br

B) CH,CH,CI D) CH,CH,I

The Sy1 mechanism for the hydrolysis of an alkyl halide to an alcohol involves the formation of
A) Carbocation C) Free radical

B) Carbanion D) Pentavalent carbon in the transition state
Which one of the following is not monohaloalkane

A) 2-chloropropane C) 2-bromobutane

B) 1,2-dibromoethane D) 3-chloro pentane

Which is a good nucleophile as well as a good leaving group?

A)F C)Br

B)CI D) I

Ethyl bromide is converted to propane by treating it with

A) Na metal C) CHaMgBr

B) CHz-Br D) Zn + HCI

Which of the following could be prepared by reacting bromoethane with KCN and reducing the
product?

A) Hi:C - CH3 C) H3C = CHz = CHz = NH>

B) CHz — CHz2 — NH2 D) HaC = CHz2 - CH3

Which of the following does not give nucleophilic substitution reaction.
A) CH3CH2Br + OH- C) CH3CH2CH2Cl + NH3

B) CHal + H>O D:l CsHg + Cl2

In the hydrolysis of bromo-ethane by aqueous sodium hydroxide, what is the nature of the
attacking group and of the leaving group?
Attacking Group Leaving Group

A) Electrophile Electrophile

B) Electrophile Nucleophile

C) Nucleophile Electrophile

D) Nucleophile Nucleophile

Chloroform (CHCI3) is?

A) Primary alkyl halide C) Tertiary alkyl halide

B) Secondary alkyl halide D) None of these

X and Y are the reagents required to convert 1-bromopropane into butanoic acid.
H H H HOHU H H H H 0
1 " | & | /

H—C—C—C—Br = H—C—C—C—CN —» H—C—C—C—C

o I || \
H H H H H H H H H OH

What are the correct identities of X and Y?

X Y

) NH2  HCl(aq)

) KCN (solid)  NaOH(alcohlic)
) KCN (alcohlic) HCl(aq)

) HCN (ag) HCl(gas)

o m>
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Which of the following represent the reactivity of alkyl halides?

A) C - C bond strength
B) C — H bond strength

Which one is not an electrophile?
A) BF3
B) SO3

C) C = X bend strength
D) Electronegativity difference

C) AICl3
D) NHs

Consider reaction (l) and (ll) and select the type of reaction from the given options.

Cl

HO
Et

A) (1) Su1, (I1) Sn2
B) (1) Sn2 (I1) Sni

Me
S H } OH + HO H
Et Et
C) both are Su1
D) both are Sn2

The major contributor of $O; in the environment:

A) fermentation
B) fuel combustion

Dissolved oxygen of polluted water is:
A) 4 ppm

B) 6 ppm

The source of aicd rain:

A) acid oxides
B) basic oxides

C) incinerators
D) marshy area

C)4-8ppm
D) less than 4 ppm

C) amphoteric oxides
D) neutral oxides

The metal leached by acid - rain of soil and causes suffocation in gills of fishes:

A) calcium

B) magnesium

The major component of the atmosphere:
A) CO3, N2

B) CO; O

Ozone is blessing when present in:

A) troposphere
B) stratosphere

C) aluminium
D) iron

C) Nz, CO
D) Nz, Oz

C) mesosphere
D) biosphere

Which one of the following does not cause pollution?

A) fossll fuels
B) coal

Ozone is a pollutant when present in:
A) troposphere
B) stratosphere

C) nuclear energy
D) solar energy

C) thermosphere
D) biosphere

Which of the following is not regarded as a pollutant?

A)CO
B) O3

C) N2
D) hydrocarbons

CFCl; is responsible for decomposition of ozone which of the following reacts with ozone to form

oxygen:
A) Clz

B) CI
Acid rain;

A) retards the growth of trees
B) effects big marble construction

Photochemical smog contain:
A) S0O3
B) SOz and NO2

C) CI*’
D) Cl

C) causes leaching of metals
D) all of these

C)NO, and O3
D) SO:2 and CO»
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Which one of following substance can cause acid rain?

A) Sulphur trioxide C) Chloroflorocarbon

B) Hydrocarbon D) Ozone

The causes of acid rain

A) burning high sulphur content coal C) Increasing trend of burning wooed
B) emission of effluent gases from vehicles D) All of the above

The pH of unpolluted rain water is:

A)5.6 C)7.06

B)4.6 D)7

The primary cause of acid rain around the world is:

A) Carbon dioxide C) Carbon monoxide

B) Sulphur dioxide D) Ozone

Acid rain is caused by increase in the atmospheric concentration of?
A) Ozone and dust C) SO; and NO;

B) SO; and COx D) COzand CO

The period during which maximum ozone depletion takes place every year is from:
A) May to July C) July to September

B) March to May D) September to November
A single chlorine free radical can destroy how many ozone molecules:
A) 100 C) 10000

B) 100000 D) 10

Harmful UV radiations of sun are absorbed by

A) mixture of N2 and Oz C) ozone

B) mixture of NO2 and CO:z D) all of these

The normal amount of overhead ozone is about

A) 340 DU C)350DU

B) 345 DU D) 360 DU

Which of the following produces by volcanic eruptions and causes temporary acid rain
A) H2504 C) HCI

B) Oxides of sulphuler D) Oxides of silicon

When aqueous KOH react with n — propyl chloride, the product is.

A) propene C) 1 - propanol

B) 2 — propanol D) 1 — propenol

Which of the following is not true for Sy1 reactions.

A) They occur through single step reaction

B) They are favourd by polar solvent

C) Tertiary alkyl halides generally react through this mechanism

D) Concentration of Nucleophile does not effect the rate of such reactions

Which of the following alkyl halide is most reactive toward the attacking neucleophile:

A) CH:F C) CH:Br

B) CH:ClI D) CHal

In elimination bimolecular reactions nucleophile attack on.

A) o —carbon C) « — Hydrogen

B) G —carbon D) - Hyvdrogen
Which of the following ion is most stable:

A) Primary carbonium ion C) tertiary carbonium ion
B) secondary carbonium ion D) All ions are equaly stable
Chloroform is suspected to:

A) Eye irritant C) liver carcinogenic

B) yellow fever D) skin eruption

Teflon is a polymer of:
A) tetrafluoro ethylene C) Acrylo nitrile
B) vinyl acetate D) styrene
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In which process alkene is produced:

A) Reaction of ethyl chloride with alcoholic KOH

B) Reaction of ethyl chloride with nascent hydrogen
C) Reaction of ethyl chloride with agueous KOH

D) Reaction of ethyl chloride with sodium metal

Alkyl halide usually undergo:

A) Electrophilic substitution reation C) Nucleophilic substitution reaction
B) Nucleophilic addition reaction D) Electrophilic addition reaction
A single chloride free radical can destroy how many ozone molecules?
A)10 C) 100,00

B) 100 D) 100,000

In which reaction CCls act as a solvent:

A) halogenations of alkene C) oxidation of alkene

B) polymerization of ethene D) dehalogenations of tatrahalides
IUPAC Name of the compound (CH3CH;);CBr

A) triethyle bromo methane C) 1.1,1 = tri ethylbromo methane
B) 3 — bromo - 3 — ethylpentane D) 3 — ethyle — 3 — bromo pentane
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